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Question Number : 1 Question Id : 4509386241 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If a function f: R — R is defined by f(x) = x® — x, then f is

f1R — R D D000 f(x) = 23 — x T QG SD0DVES, f 9edB

Options :

one — one and onto

3 5550 20605 Do



one — one but not onto

23 55030, S°R DO 5

onto but not one — one

QO[HIRN 57 9 552300 S
3. ¢

neither one - one nor onto

@9 556307 5°C, DO|TRF 57D

Question Number : 2 Question Id : 4509386242 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If f(x) = vx — 1 and g{f(x)} = x + 2/x + 1 then g(x) =

F(x) =vVx — 108050 g{f(x)} = x + 2yx + 1 ©ONS g(x) =

Options :

(x + 2)2
1.+

(x—2)
2. %

(Wx +2)?
3. %



Question Number : 3 Question Id : 4509386243 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

For all positive integers ‘n’ if 3(5%""! }+23”_1 is divisible by k. then the number of prime numbers

less than or equal to k 1s

6 (O aT0%0 n H. k T 367 )+ ariodade, k $0B S mar S

RIT0 TR 59 (G OO DOV

Options :

17

Question Number : 4 Question Id : 4509386244 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



=3 =3 1
Ifa,f,yaretherootsof [ =2 4—x -2 |=0.thenaf +fy+ya=
1 o e
I—x =2 1
@By | =2 4-x =2 |=00330E) PPN WONB af + Py + ya =
1 i L=3
Options :
6
1. ®
3
2. ®
0
3.¢
—4
4, %

Question Number : 5 Question Id : 4509386245 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the determinant of a 3% order matrix A is K. then the sum of the determinants of the matrices
(AAT) and (A-AT) is
A O 3 & BB SMBTRTE0 K @00, sr@sen (447) HO (4-4AT)©
OR0E) ATE5® IO

Options:

2K



2. %

K’E
3. %

K
4, %

Question Number : 6 Question Id : 4509386246 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

While solving a system of linear equations AX = B using Cramer’s rule with the usual notation if

I F g 5 1 1 a
A=|2 -1 2|;4,=[4 -1 2|and X=|2| thena?+ f2=
-1 15 1 1 5 B
8 37 HDIBE 350 AX =B o (300 DG T 500 RrA0DEND, 08
N i %8 5 1 1 a
NoSeNdSS A=]2 -1 2|;4,=(4 -1 2| B X=[2| ®ond
1 1 5 11 1 5 B
at4 fi=
Options:
9
1. %
13
2. %
5

3.¢



Question Number : 7 Question Id : 4509386247 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If real parts of v—5 — 12i. V5+12i are positive values, the real part of V—8 — 6i is a negative

I,"—. e

: V=5-12i + y5+12i

valueand @ + ib = == then Ja+h=
8.6

V=5 — 120, Y512 © G308) e 2PN (Idaenede, y—8 — 61 OR0E). F*a)ed 23110

[-5-121 + v5+12i

T h y .

20060 HeNed B0 a + ib = ,8_; ©ONB Jath=
V861

Options :
3
1. %
#
2.%
—3
3.¥
—2
4, %

Question Number : 8 Question Id : 4509386248 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The set of all real values of ¢ for which the equation 2z + (4 — 3i)Z + (4431)z+c=0 represents
a circle 15
22+ (4 - 30z + (4430)z+c=0 HDEGEI0 28 HYER) DTN &0T ¢ TE)

@) T VIO ades

Options:

[25, )
1. %

[—5. 5]
2. %

(=0,=5] U [5, )

(—o,25]
4.

Question Number : 9 Question Id : 4509386249 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If Z=x+4iy 1s a complex number, then the number of distinct solutions of the equation
24+7=0is
Z=x+iy 28 D08Y NoDs @ONB, 23 +7=0 dad¥BE0 TE) DS) e
0§

Options :



L]

2. %
Infinite
50650
3. %
5
4.

Question Number : 10 Question Id : 4509386250 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the roots of the quadratic equation x* — 35x + ¢ = 0 are in the ratio 2:3 and ¢ = 6K, then K =
X2 =351+ c= 0 3§ IGO0 AT Sreren 23 AG & G HOO

¢=6K 900\, K=

Options:
49

1.+
14

2. %
21

3. %



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

I . xX+a
For real values of x and g, if the expression Tr2_aggy ASsumes all real values. then
X=—aX

xta wh o, . oo W [
— nod"0 @03;- o) o)D)

2x2-3x+1

x DO @ © TE) T DEVIOR
Sn%0T), B

Options:

1.
1
—1<a< ——
2
2.
1__.. ___l
2*:._‘{'{ -
3. #®
1
< —arag>1
2
4. %

Question Number : 12 Question Id : 4509386252 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If the sum of two roots o, B of the equation x* — x® — 8x? + 2x + 12 = 0 is zero and
y,0 (y > &) are its other roots. then 3y + 24 =
xt =13 —8x% 4 2x + 12 = 0 o050 G0%) Boch Sreren a,f © S0 D)

e SDBON y, 8 (v > 6) €0 TR TR0 RS SrerSa, 3y 426 =

Options :

1. % 0
|

2. ®

3. % -
5

4.

Question Number : 13 Question Id : 4509386253 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

f(x+ h) = 0 represents the transformed equation of the equation

flx) =x*+2x% - 19x* — 8x + 60 = 0. If this transformation removes the term containing

x*from f(x) = 0. then h =
fl) =x*+203 - 19x2 - 8x +60 = 0 B0, Srarosd AESE0 Fx+h) =0. &
D858 £(x) = 0 800 13D DR D) SOAW, h =

Options :

_1f2
1. ¢



Question Number : 14 Question Id : 4509386254 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The number of different ways of preparing a garland by using 6 distinet wlite roses and 6 distinet

red roses such that no two red roses come together is

6 D) Beve HerDen HOO 6 D&Y DAY (herDDATFOD O Foch
D) (hereen 2,3 138 B0 2,8 (0¢S SoirhToDK® Dire) oS

Options :

43200
1.+

86400
2. %

59200
3. %

76800



Question Number : 15 Question Id : 4509386255 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The number of ways a committee of § members can be formed from a group of 10 men and 8

women such that the commuttee contaimns at most 5 men and at least 5 women 15
W W W, W é W, o i
10 5508 e SHOK 8 HOB (RO HOA § H0B Nehsen e EMedA), e
o W W, W, W W [ W é i i
5635060 HBROM § oS08 YEDEN HOCK EV0 5 DO [N GOKSEY

23658 (10 AT 0D
Options :
8061
1.4
8612
2. %
6082
3. %
8271
4, %

Question Number : 16 Question Id : 4509386256 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If all the letters of the word CRICKET are permuted m all possible ways and the words (with or
without meaning) thus formed are arranged m the dictionary order. then the rank of the word
CRICKET 1s

CRICKET 0508080 @85ToR)080 ~rGssndh @) drenT @0
5805 & SO S5 305 DD (s 80 BAY) Asotns) EoeS
©9:00)8, ©:)¢8 CRICKET )¢50 G308 §°¢3

Options:

561
1. %

531
2. ¢

546

513

Question Number : 17 Question Id : 4509386257 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
) 10
The square root of independent term in the expansion of (2% + \E) is
; 10
(%Jr \B B0y DVSEES D 5650(ed D350 TVEY HGSTEe0
Options :

1510
1. #



10V 15

2.

30V5
3. %

2045
4, %

Question Number : 18 Question Id : 4509386258 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The co-efficient of x°in (3 + x +x%)® is

B+ x+x2)° QGBS x5 Heagsw

Options :
18
1. %
540
2. ®
1620
3. %
2178



Question Number : 19 Question Id : 4509386259 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The absolute value of the difference of the coefficients of x* and x° in the expansion of

2x?

() (c242)

2

(x241)(x?+2) 308y ARG 1* B 1 B8y, HEIS) SD1EHS e TRV

D0 NPOF N
Options :

13

4
1.4

o |

e | WD

Question Number : 20 Question Id : 4509386260 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

tan 6° tan42° tan 66° tan 78° =

Options :



e | L2

1. %

1
2. ¢

0
3. %

1§
4% 3

Question Number : 21 Question Id : 4509386261 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The maximum valueof 12sinx —5cosx + 3 1s

12 sinx — 5 cos x +3 O305) (184) V0D

Options:

18
1. ®

13
2. %

16
3.¢

10



Question Number : 22 Question Id : 4509386262 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

sin?76 + sin?16 — sin 76 sin 16 =

Options:
0
1. %
1
4
2. %
3
4
3.¢
4
3
4. %

Question Number : 23 Question Id : 4509386263 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
1+sinx+sinx+sin®x+-+m=4+ 2\@ andd<x<mx# %then 1=

1+sinx+sin®x+sindx4-+0=44+2/300000<x< X E E@mﬁ e

Options:



T T
64
T bm
4’ 6
2. %
2 o
5'6
3. ®
m2n
3" 3
4,

Question Number : 24 Question Id : 4509386264 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Tan 124+ Tan™ 13 =

Options:
T
4
1. %
s
4
2. %
31
4



Question Number : 25 Question Id : 4509386265 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Cosh™12 =

Options :

log(2 + V3)

log(2 + ME)

2. ®

log(2 — \.E)
3. %

log(2 +V2)
4, %

Question Number : 26 Question Id : 4509386266 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In AABC, cos A +cosB +cosC =

AABC ';"_Cﬁb, cosA +cosB +cosC =



Options :

r

g e
+2R
1. #
1 i
"R
2. #
R
1-!-—1
3. #® I
l-!-r
R
4, &

Question Number : 27 Question Id : 4509386267 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

InaAABCif a = 26,b = 30,cosc = Ethenc =

AABC S a =26,b=301c05622@m@c=

Options :

-2



Question Number : 28 Question Id : 4509386268 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
; 2 abc
If H 1s orthocentre of AABC and AH = x; BH = y; CH = z then — =
xXyz

& o v \ ~ ab
AABC S H ©0230(¢50 08050 AH = x; BH = y; CH = z @00 — =

xyz

Options :

a+b+c
x4y =

ab + be + ca
xy-+-yz+2x




Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In a regular hexagon ABCDEF,AB = @ and BC = b. then FA =

2,8 [8022¢8)22 ABCDEF S0, 4B = a B0 BC = b @O FA =

Options:

a-b
1.+

a+b
2. %

b—a
3. %

2b—a
4, %

Question Number : 30 Question Id : 4509386270 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
s e Pulei ettt o s g e g I vm opl s

If the points with position vectors (m +10j + 13@ (6! +11j + llm,(zz +bj Sk) are

collinear then (19 — 6f)? =

(ai + 105 + 13k), (j63+11}+11§),G?+5}—8E) N ' AOFENT (e Hothayen

SBDOrBS (190 — 66)? =

Options :

16



36

2.

25
3. %

49
4, #

Question Number : 31 Question Id : 4509386271 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If f.g.h be mutually orthogonal vectors of equal magnitudes. then the angle between the
vectors f + g+ hand h s
£ g1 o0 D D80 (10 B)Y ©020Fen @ond f+ g+ h HO0W k
O3 N¢ds 80

Options :



)

Ji V3
L —Cas | —
4

4. %

Question Number : 32 Question Id : 4509386272 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Let @, b be two unit vector, If ¢ =@ +2b and d = 52 — 4b are perpendicular to each other. then

the angle between a and b is

a,b 0 B0 OO NOFeN. ¢ =a+2b OO d=5a—4b &) I ©0

DEFEN OV 7, b © NES (10 §easn

Options :
1. % &
T
2. ® :
[
3
3.v
[
8



Time:0
If the vectors @ = 2i — j + kb=i+ 2j - 3k.c=3i + pj + 5k are coplanar then p =
G=2i—j+kb=1+2 -3k =30 +pj +5k SOIN ISOFSS p =
Options:

-+

14

3.4

Question Number : 34 Question Id : 4509386274 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

For a set of observations. if the coefficient of variation is 25 and mean 1s 44. then the variance 1s

2,8 H83050) DaNBE IO KHEIEM 25 HBAN @0ZNCE0a 44 OONS

(§=3)

Ay
Options :

11



110

19
4. %

Question Number : 35 Question Id : 4509386275 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If 5 letters are to be placed in 5-addressed envelopes. then the probability that at least one letter 1s

placed m the wrongly addressed envelope is

DTSR RS 5 3OS 5§ GATON G0, 0N 28 GB80 &)
BT e E3BES SotIErAS H0erSseh

Options :
1
1.% O
1
120
2. ®
4
3. % £
119
120



Question Number : 36 Question Id : 4509386276 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A student writes an examination which contains eight true or false questions. If he answers six or

more questions correctly. he passes the examination. If the student answers all the questions. then

the probability that he fails n the examination is

gl kot g oo o s W, &
2,8 30 8 2.5 B ) deSrraren DA 988 & (TRrch. H0ES G
OO0 6 BT 80 ()05 O NeSrTEren [oird). Aarsd @)

)08 QPR (1, @68 B85S DN FErdE Hoarse

Options :
37
256
1. %
19
256
2. ®
119
256
3. %
219
256
4. &

Question Number : 37 Question Id : 4509386277 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



i ;1 2 T ;
The probability that a person goes to college by car 1s 3 by bus : and by train 1s P respectively.

g i , 2 4 1
The probabilities that he reaches the college late if he takes car. bus, tramn are 7 and =

respectively. If he reaches the college m time, the probability that he travelled by car is
28 358 S OO IHEAE, 20)S IFEE HB TS F¢ERE

1
RIS AN T TOVIN VN If =

[T ]

3
00 : SO T, ), I o0

5808 ; 98 TTOS

DO A0S’ TOB, webed DS’ 39 GOBEAS Hozrad3eh

SOV DOEFE N0LTIIHEN ST

]

-1 1 2
-.,Jl,p;

Options:
6
29

1. %
24
29

2. %
by
29

3.+
23
4 % 29

Question Number : 38 Question Id : 4509386278 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



P. Q and R try to hut the same target one after the other. If their probabilities of lutting the target

3 5 : 2 o B .
ez, respectively, then the probability that the target is hit by P or Q but not by R is

wa | e

P, Q )00 R € 2.5 OF5A) BO0ErAS 2,506 hared HFERM (0H8) .

& ©5150) TOOVGE0S T6 H0aTdseen oﬁdje@rv%,%, 9O P B Q v &

-1 | @i

O3] DONT, R TOOVNOT GO D025

Options :
26
105
1.+
79
105
2. %
0
3. %
75
105
4, %

Question Number : 39 Question Id : 4509386279 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A box contains 20% defective bulbs. Five bulbs are chosen randomly from this box. The
probability that exactly 3 of the chosen bulbs are defective is

28 DS 0% S DAPONYDY  2EVYEN  GON. WOV 2ENYOD
AFSHDE0T  JOHHTYED. oD 2O IOT 3 e

& NTONNOT GOErDE Hoeredseh

Options :
32
625
1.+
32
125
2. %
16
625
3. %
16
125
4, %

Question Number : 40 Question Id : 4509386280 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If a random variable X satisfies poisson distribution with a mean value of 5. then probability that
X<31

5 @08 NP5 ™ $OAN ARGy QETF X FONTR 2FBIR)

D0BRTR), X < 3 B0EY 0zrseh



Options :

37
2
1. %
6e>
2. ®
6e >
3. ®
o
7
4, &

Question Number : 41 Question Id : 4509386281 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The equation axy + byz = cy represent the locus of the points which lie on
DNEGEI0 axy + byz = ey AFDOT DO D0 ALY DocdHEN

Options:

zx-plane or on the planes perpendicular to zx -plane

-850 BO® zx I8 ©0DOMT &OT S0 A EOLTON
1.

on the planes perpendicular to x-axis

X S8 ©I02IOMT SO 5N A &N



on the lines perpendicular to zx-plane

zx 578 00T GO OV N SOLFow

on the lines perpendicular to xy-plane

1y €578 ©OOM 05 DD N SOEFoND

Question Number : 42 Question Id : 4509386282 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the axes are rotated through an angle 45° about the origin m anticlockwise direction. then the
transformed equation of y* = 4ax is
Sr0D0E) Gl BFOD GINNROIS 45° §00s H080 T, v = dax
Ry, Erarods HabEBe0

Options :

(x+y) 2 1,@:1 (x—y)
1.4

(x —y)*=4 V2a (x+v)

2. ®
4a
(x—¥)° =—=@(+y)
3. % e
. . 4a
(xh)2 =—(x—y)
V2



Question Number : 43 Question Id : 4509386283 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the lines 3x+y —4=0,x —ay + 10 = 0, fx+2y+4= 0 and 3xty+k= 0 represent the sides of a

square, then af (k+4)? =

3xty —4=0,x—ay + 10 = 0, fxt2p+4=0 DA 3rty+h= 0 € 25 VOO BWS)

Tenth D2 AN af(k+4)? =

Options :

—256
1. %

s i 1
2. ¢

—128
3. %

—1024
4, ®

Question Number : 44 Question Id : 4509386284 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A is the point of intersection of the lines 3x + y —4 = 0 and x — v = 0. If a line having negative
slope makes an angle of 45° with the line x — 3y + 5 = 0 and passes through A then its equation
18

3x+y—4=000000x -y =0 09O DO Doy A. 20eTHETEND SORD

2,8 DEETD x — 3y +5 = 0 BDS 45° 0 T, A HO & &3 T dadideao

Options :

x+y=2
1. %

2y =3
2.

4x +3y =7
3. %

x+3y=4
4. %

Question Number : 45 Question Id : 4509386285 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



242 — 3xy — 2y% =0 represents two lines L1 and Lo, 2% — 3xy — 2y% — x+7y — 3 =0 represents
another two lines L3 and L4. Let A be the point of mtersection of lines L1. L3 and B be the point of
intersection of lines Ly and L4. The area of the triangle formed by lines AB and L3. La 1s

22 — 31y — 252 = 0 Dad&3Ea0 BOch BYEN Ly, Ly e ArdD0d.

22 = 3ay — 25 — 1Ty — 3=0 DadE0E0 DO BO TN L3, La e ArdD0OA. L,
L3© DO 20c0a) A HBOM Ly, L © D0 Dockhay B @500, Ten AB,
L3, Lt ©T )3 |99902 IT050

Options :
3
10
1.+
3
2. ® 2
15
3. %
4. ®

Question Number : 46 Question Id : 4509386286 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The area of the triangle formed by the pair of lines 23x% — 48xy + 3y = 0 with the line
20+3p45=01s

23x% — 48xy + 3y? = 0 DESTAONK0S 2043p+5=0 0D 80T Beh FT0)50

Options:
1
1343
1. %
25
1343
2.«
7
134/5
3. %
9
2543
4,

Question Number : 47 Question Id : 4509386287 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If & is the angle between the tangents drawn from the point (2, 3) to the circle
¥ +yt—6r+4y+12=0.then 6 =
¥+ y2—6x+4y 412 = 0 SRS (2. 3) Do Nod NN D)) 0D s
590 0 ©0NS, 0 =

Options :
1.



%
4
sin” ()
in™"
2. ®
5
2 Tan™1 (—)
1
3. ®
5
Tan~1 (—)
12
4.

Question Number : 48 Question Id : 4509386288 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If 2x—3y+3=0 and x+2y+k=0 are conugate limes with respect to the circle
T s B
§S=x"+y*+8x—6y—24=0. then the length of the tangent drawn from the point 3'a to

the circle S=01s
S=xt+y?+8r—6y—24=0 )0 Ol 2x—3y+3=0 00O x+2y+k =0

k

e D00} BRBB, =0 Sy TS G, :

) Dochsy 006 s 68 &k

Options:

i
!

1. %



.

12
3. #

24
4. %

Question Number : 49 Question Id : 4509386289 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If Q (h. k) 15 the inverse pomnt of the point P (1. 2) with respect to the circle

12 4y?—4x+1=0.then2h+k=

2y =4y +1=0 980 GaPs, P (1. 2) Docdey By DS Hoced Q (0, ¥)

NS, 2h+k=

Options :
3
1. %
._T_
2.
3.%
11



Question Number : 50 Question Id : 4509386290 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If (2. b) and (c. d) are the internal and external centres of similitudes of the circles
24yt +4x-5=0and x* + y2 — 6y + 8 = 0 respectively. then (a+ d) (b +¢) =
(a, b) oNOOW (¢, d) 00 JDIT ¥ +y2+4x-5=0 0000 **+y2-6y+8=0

ST @0 DA 2T G S0|TOONS, (a+d) (b+c)=

Options :
., 4
1. %
9
2. ®
13
3.¢
22
4, %

Question Number : 51 Question Id : 4509386291 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A Circle S passes through the points of infersection of the circles x? +y2 = 2x +2y -2 =0
and x? + y% + 2x — 2y + 1 = 0. If the centre of this circle S lies on the line x — y + 6 = 0, then

the radius of the circle § 13

iy - 2042y-2=0 OO 2P+y +2-29+1=0 TO OB
oY HOT 28 5980 S FE00. & HyB0 S T, S0(00 x — y +6 = 05D
GO®), 90 § Ay Fsardo

Options :

V5

Question Number : 52 Question Id : 4509386292 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The line x — 2y — 3 = 0 cuts the parabola y? = 4ax at the points P and Q. If the focus of this
parabola 1s G k ), then PQ =
x-2y-3=0 09 y?=4ax JTNOATFR) P, Q DoNI® oS¢ oAN0D. &

NTO0HO ARG 78 G, k) ©ON, PQ =



Options :

16av5
1.4

8aVv5
2. ®
3 % 4avyh

ZH*JE
4. %

Question Number : 53 Question Id : 4509386293 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If 4x — 3y — 5 = 0 is a normal to the ellipse 3x2 + 8y® = k, then the equation of the tangent
drawn to this ellipse at the point (=2. m) (m > 0) 1s

312 +8y% = k OO0 9§ 4x -3y -5 = 0 2,8 @DO020D @00, & OY TS
(=2, m) (m > 0) O ¢ A 9167 T HedEBe0
Options :
3x +4y —14 =0

1. %

3x —4y+10=0
2.

3x —4y+1=0
3. %



4x+3y—3=0

Question Number : 54 Question Id : 4509386294 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the line 5x — 2y — 6 = 0 is a tangent to the hyperbola 5x* — ky? = 12. then the equation of

the normal to this hyperbola at the point (V'E, }J) (h<0)is

5x2 — ky? = 12 O8ITWO0TE Sx—2y—6=0 0D &% 000D ©ond, &

©BATNOTS (v6,0) (b < 0) Doche) o @020 Hadideo

Options :

Véx +2y =0
1. %

2v6x 4+ 3y =3
2. %

V6x — 5y = 21
3.

3W6x —y =21
4, %



I i o
If the angle between the asymptotes of the hyperbola x? — ky? = 3 is > and e 1s 1ts eccentricity,

then the pole of the line x + y — 1 = 0 with respect to this hypetbola 13

v — ky? = 3 @830500H0 A8} @508 316,090 HAEE0 7 HB e T

630|565 NS, S BNTHOOHO s x +y -1 =089 B, |Hao

Options:

1. #
()
2
2. ¥
(i
2
3. ®
3e
(%)
7id
4, &

Question Number : 56 Question Id : 4509386296 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let P(c. 4. 7) and Q(3. . 8) are two points. If YZ- plane divides the join of the points P and Q in
the ratio 2:3 and ZX- plane divides the jom of P and Q i the ratio 4:5, then length of line
segment PQ 1s

P(0, 4. 7) D0 Q(3, B, §)E0 BOh DochIen ©HBI0T0. P, Q O L0 0D

YZ- 00 23 Q)8 S, ZX 600 4:5 38 S 20, PQ Tgr 2050 ek,
Options:

V107
1.4

Question Number : 57 Question Id : 4509386297 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If (a,pf,y) are the Direction cosines of an angular bisector of two lines whose Direction ratios
are (2,2,1) and (2,-1,-2), then (a+p+7)? =
(2,2,1) OO (2,-1,-2) B AR e Toh 0POT HE)E S

DDA § DO T 0 C0E) BF SR O (, f,y) €0 OB, (a+p+7)? =

Options :

1. % 3



I

2. ¢

4
3. %

5
4, ®

Question Number : 58 Question Id : 4509386298 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the distance between the planes 2x +y+z+1=0and 2x+y +z+a =015 3 units, then

product of all possible values of @ 1

2+y+z+1=00000 2r+y+z+a=08er0 HE)Erdo 3 APADS, a §

5008 B NSO B0

Options:
—43
1. %
2. % W
53
3. %
—53



Question Number : 59 Question Id : 4509386299 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

I L—ecosxcoslx

x—0 sin?x
Options :
11
1. %
2. %
3
3. %
5
4. %

Question Number : 60 Question Id : 4509386300 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
x 2o\ 3x2+x—-2 -
Options :
—3
1. %
R



Question Number : 61 Question Id : 4509386301 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

(2x%—ax+1)—(ax®+3bx+2)

f(xj:[ Y ,lei -1

k Jfx=—1

is a real valued function. If a, b, k € R and f1s continuous on R then k =
(2 a1y Gt Bt ly o _
k Jifx=-1

2,8 T SO NON0. 3, b, k € R SHOAIN R 2 7DD )A3) e k =

Options :
1
.3
1. %
6
2. %
et
3. %
a—3



Question Number : 62 Question Id : 4509386302 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
2x gl.-"rzx_3x E—l,.l'rE.?t’ )
Iff(x) = e¥2X+ae-1/2x if x#0
0 i =0

1s a real valued tunction then

2x el/2X_3x g—1/2x . W

]((X) — el/2xy 4 o—1/2x ‘r‘f xe ) @(m({‘]@g@
: if x = 0 @0 )R

2,8 PR ST (e OIS

Options :
I 0 A _3
fron=-
1. %
f'(0-)=2
2. %

f1s not differentiable at x =0

1 =038 955000 5°¢D
3. ¢

f1s differentiable at x =0
=0 IS Fe958Q00N



Time:0

2 — 3sinx

e L &y _
Ify = Tan ( ) then —

3 — 2sinx

. 1 2—35111:{) dy _
y = Tan (— ©OoNS

3 — 2sinx

Options :

(3 — 2sinx)?
13sin?x — 24sinx + 13

1. #®
—5cosx
13sin?x — 24sinx + 13
2.
5sinx
13sin?x — 24sinx + 13
3. ®
—5sinx
13sin2x — 24sinx+ 13
4, %

Question Number : 64 Question Id : 4509386304 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

fx=3 [sin t — log (mt%)] andy =6 [[‘DS t+log (tan 2)] Then% =

e [sint — log (cot%)] O y=6 {ms t+ log (tan%)] @Qﬁ@% =

Options :



2sin?t

l+sintcost

1. #
2cos?t
1+4sin 2t
2. ®
2cos?t
l4+sintcost
3.
1+4cos 2t
1+sin 2t
4, %

Question Number : 65 Question Id : 4509386305 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
By considering 1’ = 0.0175. the approximate value of cot 45°2" 1s

1' = 0.0175 17 27007, cot 45°2" QWS GE°ON0) aCNed

Options :

1.07
1. ®

0.965
2. ®

1.035



Question Number : 66 Question Id : 4509386306 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A point is moving on the curve y=x* — 3x’+ 2x— 1 and the y-coordinate of the point is

increasing at the rate of 6 units per second. When the point is at (2, —1). the rate of change of

x-coordinate of the point is

y=x° - 354 2x— 1 H(80D 28 DoY) I8 &8 DB & Doy T8} y-

AEPIS0 VEDH 6 CPAE Wy QDR & Doty (2,-1) S

923208, Hochel TV x- AGFIEOS Sr) Bew

Options:
3
1.+
1
2. ® -
1
2
3. %
—3



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The length of the tangent drawn at the point p G) on the curve x2/34y?/3=2%/3 i

Ry 0T p (“) D0CsY 5D AV D809 e

4

Options:
2
1. % .
|
2. ¢
4
3
3. %
2
4, ®

Question Number : 68 Question Id : 4509386308 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The set of all real values of ‘a’ such that the real valued function

f(x) =x>+ 2ax’+ 3(a+1)x + 5 is stricily increasing in ifs entire domain is

£(x) =X+ 2axt+ 3(a+1)x + 5 OF P QFOS (HDODO TR Fedo (HBI0S HE
STaTE (DD DTSV &OT @ T, ©A T VNS A

Options:

1. %



(_m, _Z) U (3,%0)

(1. 3)

(—e0,1) U (3,0)

Question Number : 69 Question Id : 4509386309 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

(x5 + 1)




Question Number : 70 Question Id : 4509386310 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

;% i
,:dl' =
f \.-".l’z+x+l

Options :

1 21 1 -1 fxt2
5 VX +x+1 + 2::‘rcnsh ( E)-E—C

3

1. %
1y07mr——— 2 , (2xt1
—y/x24x+1 4+ —Tan ( = )+ C
2 “'l."ll3 V3
2. %
— &
Vai4+x+1l+ —loglx? + x+ 1|+ ¢
..,u.-'3
3. %

e« 1., 5 f2%F]
Val+4x+1+ —sinh ( == )-I— ¢
2 V3



Time:0

[(THH?I + tan x)dx =

Options:
tan®x g . .
= (2tan*x — 3tan‘x +6)+c
1. ¢
tan’x tan®x ¥ tan*x §
e C
6 4 2
2. %
tan®x i 3
(tan® x + 3tan® x +4)+c
3. %
tan x
5 (tan*x — 3tan’x+ 6)+ ¢
4. %

Question Number : 72 Question Id : 4509386312 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

cosec X 4
; X =
3cos x+4sin x

Options :

—log . ¢

1 COS X
i |

3sin x + 4cos x



1 sin x
o : +c
3 3cosx + 4sin x
2. %
1 3cos x+sin x
S0 - +c
3 3cos x 4+ 4sin x
3. #
1 | cos x+4sin x
2 08 3cosx + 4sin x
4, &

Question Number : 73 Question Id : 4509386313 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

f e2*t3gin 6x dx =

Options :
E2x+3
0 (2sin 6x + 6¢cos 6x)+ ¢
1. %
sz+3
20 (2cos 6x + 6sin 6x)+ ¢
2. %
€2x+3
20 (sin 6x — 3cos 6x)+ ¢



€2x+3
(cos 6x — 3sin 6x)+ ¢

Question Number : 74 Question Id : 4509386314 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
: 1 1 1 1 1
Einx nt| =+ —+ -+ gt
TN @ +Dr 2+4: @2+9):  AVen
Options:
3
442
1. %
3v2
.
2. %
5
6\2
3.¢
5'\.-"3
6



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

log s sz + e*
dx =

2x X 4
Jioga € be* + 6

Options :

: (64)
og 5
1. %
, 256
Gg(Bl)
2. %
] (32)
og 3
3. %
] 128
05(2?)
4,

Question Number : 76 Question Id : 4509386316 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

X =
Options :

1.4



1 a3
—— T —
V3 2

121
2. ® 0
|
3. %
1 2
—Tan™ ! (—_)
V2 V3
4. %

Question Number : 77 Question Id : 4509386317 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The area of the region (in sq. units) enclosed by the curve y = x* — 19x + 30 and the X-axis is
SB0 y=22-19x+30 HOK X-030 OF 8500028 rod IFT50
(555 RS )

Options :
167
1. %
al7




Question Number : 78 Question Id : 4509386318 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The differential equation representing the family of circles having their centres on Yeaxis is
1 —ﬁ 7 —@)
(Jll dx Ay, = dx?

Y-850 0O 008 SRS SyBsne SHen0ard) Srdod @50
86600 (3= 2 o8y y, = 22)

y
dx?

Options:

v, =y *+1)

1. %

v, = xy(y,? +1)
2. %

xy, =vi(n* + 1)
3.

xy, =y(n*+1)



Question Number : 79 Question Id : 4509386319 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

2

The general solution of the differential equation (siny cos® y — x sec® y) dy = (tany) dx is

(sinycos?y—xsecty) dy = (tany) dx ©F O8O DadiBe0 g i
AN

Options :

tany = 3xcos®y + ¢

1. %

x(secy +tany) = cos’y + ¢
2. %

: D 2

Y Sy —=x cig" y¥+e
3. %

3xtany + cos®y = ¢
4. &

Question Number : 80 Question Id : 4509386320 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The general solution of the differential equation (x —y—1)dy=(x+y+ 1) dxis

(x—y—1dy=(x+y+1) dx ®380 Han85e0 TB0E) e PSS

Options :

1.4



v+ 1 1 _ :
Tan™ ! ( ) —Efﬂg{_lz +yi+2y+1)=c

(x —y) +log(x +y) =c

2. ®

vi—x*+xy—3y—x=c
3. %

=y et 1 =1
4. %

Physics

Section Id : 450938136
Section Number: 2
Mandatory or Optional : Mandatory
Number of Questions : 40 40

Section Marks :

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Maximum Instruction Time :

0 7 .
Is Section Default? : null



Match the following

a) | Thermal conductivity | 1) | MLT 3K™1
b) | Boltzman constant ) (ML R T
¢) | Latent heat iii) | ML?’T2K~1
d) | Specific heat iv) | M2L2T %

50 a3 234 08H0%
a) | Cadorarded i) | MLT3K?

b) | SO S Voroso | i) | ML2T2K 1

o) | H&FA0 i) | MIZE 2K
) | D3EFR0 &) | MOT 2
Options :
a—i, b—iij c—iv, d—ii
1.4
a—i, b—ii c — iv, d — iii
2. %
a—iii, b—ii, c— i, d—iv
3. %
a—ii, b-—i c — iii, d—iv
4. %

Question Number : 82 Question Id : 4509386322 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



An object 1s projected such that it has to attain maximum range. another body is projected to reach
maximum height. If both the objects reached the same maximum height. then the ratio initial

velocities
28 YA B 5 FOTEY, HTE YD B B TOLLY OB, &
0T DO HBa) ENEN NP0, BONE & TO NeD)® HE) DO A )&

Options :

21
1. #

V2:1

2. ¥

1:/2

1:2

Question Number : 83 Question Id : 4509386323 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Aball 1s projected at an angle of 45° with the horizontal. It passes through a wall of height '’ at a
horizontal distance d; from the point of projection and strikes the ground at a distance d, + d,

from the point of projection, then ' is

2,8 208 §82 dXroBdE0% 45° Fa0d (N800 T, & 208 (8
Do) DO d; § 328 a0 Erdaie B’ ¢ e Acdad ¢S 2352 Doty
0D d; +dy G206 TR THDNH. WOV B Devsd

Options :



T d, +d,
1. 8
_ dyd;
- dytds
2. %
1 vZ d,d,
e
d, + d,
3. &
d.d
s ik &
2(d; +d;)
4. %

Question Number : 84 Question Id : 4509386324 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

One second after projection, a projectile is travelling n a direction inclined at 45° to horizontal.

After two more seconds 1t 1s travelling horizontally. Then the magnitude of velocity of the projectile

is(g=10ms™)

2,8 1393 38650, |98 20 TR 28 DED 5050 ST 365 ea6h § B2 T0BdSNS

45° S0 TP OB 10. 58 158 9550 98 Both DEDO FOL0 S0
§ 32 NIroSBEOM (DOIPBN), ¢ (S8 8 I DOSTL VNS,

b

(g=10ms™?)

Options :

10v13 ms™!

1.



tims™

2.

10v2 ms™!
3. ®

20 ms™ !
4. ®

Question Number : 85 Question Id : 4509386325 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Three blocks of masses 2 m, 4 m and 6 m are placed as shown m figure.

; 3 3 4 : :
Ifsin37° = -, sin = Ethe acceleration of the system 1s

2m 4 m 6 m (G5 THED O Hr BFOD H0S RS Eomr
OO, sind7° =2, sin53° = @ADL A D59 Ty 6890

Options:
17
3——u
1.4 3
13
a=—
30°



13

a=—g
- 15
15
a=—
355

4. %

Question Number : 86 Question Id : 4509386326 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Two masses m, and m, are connected by a light string passing over smooth pulley. When set free

. . my . _ &
m, moves downwards by 3m in 3 s. The ratio of —is (g = 10 ms™2)
My

YC) 5228 BDF)e B (S5THED my aNBANY my 0 2%a) BA) 2.8 Soe
38 (Beadabaon. 28 RO SHON, my S0OBISE 3m eV
(1603 DSOS 200 = )8 (g =10ms™?)

Options:
9
1. % ¥
8
2. ¢ 7
10
3. % :



15
13

Question Number : 87 Question Id : 4509386327 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In an melastic collision. after collision the kinetic energy

2,8 GOBTNE @) BONSD I eEHE Densd, 08areden 200 ared
Options :

increases by 2 times

2 BED D

1.

1s less than before collision

292)03°¢5300 230018 200D 0T 5502 I GO
2. %

1s more than before collision

2927755300 23850098 S0 CH OB DBV M GOCD
3. ®

remains same

. DENDN0E3 S5 G0OCECDH



A spring of 5 X 10°Nm™ spring constant is stretched initially by 10 cm from unstretched

position. The work required to stretch it further by another 10 cm 1s
5 x 10°Nm™ )00 Q008 dens $O8S a8 (0)0h Jwcded 10 em &0
HOOHDAIE. 88200 & DTS 10 cm PHAAVEF TONSIOR DA eV

Options :

75 N-m
1.4

50 N-m

76 N-m

82 N-m

Question Number : 89 Question Id : 4509386329 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The moments of inertia of a solid cylinder and a hollow cylinder of same mass and same radius

about the axes of the cylinders are I; and I,. The relation between [; and I, 1s
2,3 3635073 SHBAW &3 asrrG0 EORS 2.8 500 AP0 SHBAW 2.8 Fen a0 ©
3046 £ 27T AR ©5°0) HBOTP JAT 1, DO L. 0N I; HEAN 1,

DEE D000

Options :

Loa 1
1. 02



2. ®

I > 1
3 % 1~ 12
4'23 11212:{]

Question Number : 90 Question Id : 4509386330 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A wheel of angular speed 600 rev/min 1s made to slow down at a rate of 2 rad s 2. The number of

revolutions made by the wheel before comng to rest 1s

§E30% 0363 600 rev/min ) 2,8 T I 2 1ad s2 TS SNOWIRANA. V)0 V&S

/

TS $0T) 00D LE TS ZaDET 0D

Options :

157
1.4

177

17



Question Number : 91 Question Id : 4509386331 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Time period of a simple pendulum 1 Air is T. If the pendulum 1s in water and executes SHM. its
time period is t. The value of % 15
[density of bob 15 503& kgm™?
TS &M 28 odndedo Bomdds soo T. Sefo A8S ok

D608 00 BR0E TR BOTHE FOO T ©NS - NS

[fhock APo¢i = kgm?]

Options :
2
5
1. %
2
5
2. v
3. %
5
2
4, %

Question Number : 92 Question Id : 4509386332 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
For a particle executing simple harmonic motion. match the following statements (conditions) from

column I to statements (shapes of graph) m column IT

column I column II
a | Velocity-displacement graph (w =1) |1 | Straight line
b | Acceleration-displacement graph i | Smusoidal
¢ | Acceleration - time graph i | Circle
d | Acceleration - velocity (w # 1) iv | Ellipse

D638 9050 T §690 DN0H0S 1§00 ¥ G0k

2| Sfo-T\25030 (5 (w=1) i | d0e0
b | &58ea0- | Bod0 D i [ DFPONGO
¢ | &5080-500 Ta) i | 53980
d | &s0e0-300 (M) (w#1) iv | & d9B0
Options :
a-1v.  b-i. c-1.  d-111
1. %
a-111.  b-1. c-11.  d-1v
2.
a-111. b-11.  c-1L. d-1v
3. %
a-1v. b-11.  c-1 d-111
4. %

Question Number : 93 Question Id : 4509386333 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Two satellites of masses m and 1.5 m are revolving around the earth with different speeds in two

circular orbits of heights R and 2R respectively. where Ris the radius of the earth. The ratio of

the minimum and maximum gravitational forces on the earth due to the two satellites 1s

m DO 15m (AI§TrHEN (0 To Gafaren 2irad the) Ry 000 2R,
DR K0 TG 88506 DD HEHOS HBESM0N L) 0. B Ry 2
T5PG0. 23 &8 Boch G(lfaFe) O $OT & HBAK 1B thehed s were
A

Options :

Question Number : 94 Question Id : 4509386334 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two copper wires A and B of lengths in the ratio 1 : 2 and diameters in the ratio 3 : 2 are stretched
by forces in the ratio 3 : 1. The ratio of the elastic potential energies stored per umt volume in the
wires A and B 1s

90 DA 112 HBOM T D) 3 : 2 §OAS A B0k B & Boch o°h
310 3:1AES' 0 2ered 271 AT, DF08 HSHBSFTIE A HB0M B
SO DOV BT DBTHE S FHE i)

Options :

Question Number : 95 Question Id : 4509386335 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
216 small identical liquid drops each of surface area A coalesce to form a bigger drop. If the surface

tension of the liquid is T. the energy released m the process is

2572838 A &80 ITO50 ) 216 D) 2505 335 DY EOVFan
2,8 0 DO IOIBD. (¢5a) SB35 T 9anes, (MIEOHES DS 0w
G

Options :

1. %



360 AT

180 AT
-;-_;.’-?
3 % 90 AT
120 AT
4, %

Question Number : 96 Question Id : 4509386336 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The length of a metal bar is 20 cm and the area of cross section is 4 X 10™*m?. If one end of the

rod 1s kept in ice at 0°C and the other end 1s kept in steam at 100°C, the mass of ice melted in one

minute is § g. The thermal conductivity of the metal in Wm ™K is

(Latent heat of fusion = 80 cal/gm)

2,8 SaTy 0 059 20 em HOOW T DTS FTO0 4x 107 m?. § 2.8
D36 0°C 3G 10 DS, 0FE DSGD  100°C G o> A 271 )05 e
GOD, 28 A0S E6AS DOt (BST7T 5 g ©ONS SoF) G aFaTEH 0
WK1 &' (Sa)eSaden e = 80 callem)

Options:

1.4 20

120



100

160

Question Number : 97 Question Id : 4509386337 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The work done by an 1deal gas of 2 moles m increasing its volume from V to 2V at constant

temperature T 1s W. The work done by an ideal gas of 4 moles in increasing its volume from V to

:
8V at constant temperature E 15

2,8 V0 &1 T 50 2 A7 © 2.8 80585 aP05Na) a0 DBTEIND V aD0G 2V
DoeH T 39 W. 96 66 = 3¢ 4 6 o 66 Toind b

&

DBIEI0ND V DO 8V 20D DODSON )
Options:
W
1. %

ZW

3W

4W



Question Number : 98 Question Id : 4509386338 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
When 40 | of heat 1s absorbed by a monatomic gas. the increase in the mternal energy of the gas is
2,8 8 DBSTENE PG 40] GaFR) TR0, TN ©0S8% 48 SR
Al

Options :

121

16]

24]

32]

Question Number : 99 Question Id : 4509386339 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In a Camot engmne. the absolute temperature of the source 15 25% more than the absolute

temperature of the sink. The efficiency of the engine 1s
2,8 58) CHOB0S, EaPFaNo adad Gafiie, Fderdano N6 Gefiie )
25% ©530. @O GO0 ARE). 95

Options :

10%

1. %



50%

2. %

25%
3. #

20%
4.«

Question Number : 100 Question Id : 4509386340 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The molar specific heat capacity of a diatomic gas at constant pressure is C. The molar specific heat

capacity of a monoatomic gas at constant volume is

8 A0 S 28 B §I0TEE ANy F0erd DT 5o €. VY

&

DINOIPEI0 6 2.8 DEITITENE O TINEY VXD DI g0

Options :
2C
1. % .
3C
2. 7
C
7
3. %
4C
7y

4, %



Question Number : 101 Question Id : 4509386341 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Two stretched strings A and B when vibrated together produce 4 beats per second. If the tension
applied to the string A increased. the number of beats produced per second 1s mcreased to 7. If the
frequency of string B is 480 Hz nitially. the frequency of string A is

B0ch FPAHOHAN Bien A HOCH B 2370 0505 TS, a8 VEDL 4
DO €red Yo OO, S A § BDHIBOSDAD Bz DO, 2.8
58 &8 Db DDI0TEE 7 80 BT, e3if B e )50 480 Hz 9w,
i A 89 s 50

Options :

473 Hz

1. %

476 Hz

484 Hz
3.¢

487 Hz

Question Number : 102 Question Id : 4509386342 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The focal length of a thin converging lens in air 1 20 cm. When the lens 1s immersed n a liquid. it
behaves like a concave lens of power 1 D. If the refractive index of the material of the lens 15 1.3.

the refractive mndex of the liquid 1s

TOS ) 2.8 DI §6)50 77ar0860 20 em. & §05) 2.8 13908 DO
90 1 D 50 Ko Ersd §6)80 3B DTN, E68 gy S8 theago

1.5 9006 |30 (8% Heago

Options :
1.+
4
3
2. ®
B
4
3. %
Vj
4
4. %

Question Number : 103 Question Id : 4509386343 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In young's double slit experiment with monochromatic light of wave length 6000 A. the fringe
width 15 3 mm. If the distance between the screen and slits 1s mereased by 50 % and the distance

between the slits is decreased by 10 %. then the fringe width 1s

6000 A 3011550 SORS 8 S50BS NS ahoh zos DO HAFH0S
HE Icsen) 3 mm. BE HOAM DOLE g EFTY 50 % oD, DO Kds
o) 10% SRoDS, 38 Fcsen)

Options:

12 mun
1. ®

5 mm
2. W

6 mum

10 mm
4. %

Question Number : 104 Question Id : 4509386344 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two point charges +6 pCand +10 pC kept at certain distance repel each other with a force of 30 N.

If each charge 1s given an additional charge of —8 pC, the two charges

§0ch S 0S 36 ToHAS Boch Do SFFEN +6 uC HOOW +10 € 2.8
AR DHTES 30 N 2008 DEJ0H Thad. (8 SHTRE S¢S0 -8 uC 3T
oD, 8 FOCH SITeN

Options:
1.



Attract with a force of 2N

2N 2008 358005 DD

v
repel with a force of 2N

2N 2008 DEQ0tRT D

2. %
Attract with a force of 15 N

15 N 2008 e3580t05 DD

3. %
repel with a force of 15 N

L« 15N 22008 DEOONEDD

Question Number : 105 Question Id : 4509386345 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In the given circuit. the potential difference across 5 pF capacitor is

35BS SO0HOES, § uF SaPBD Hede) s FRVAHS B30

Options:



48V
1.4

24V

63V

21V

Question Number : 106 Question Id : 4509386346 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In a region, the electric field 1s (30{ 1 40D NC™L. If the electric potential at the origin is zero. the

electric potential at the point (1 m,2 m) 1s
2,8 B0, AESS $ (690 (301 + 407) NC, S©) Oy 58 s FAADE

T 0N, (1m,2 m) LOe) & DS FRNOHO

Options :

—60V
1. %

—75V
2. ®

~hK5V



=310

Question Number : 107 Question Id : 4509386347 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In a potentiometer, the area of cross section of the wire is 4 em?, the current flowing in the circuit

is 1 A and the potential gradient is 7.5 Vm ™. then the resistivity of the potentiometer wire is

2,8 PR D& i S ZP30 4 em?, SOOHO MO (NIPOT NS
DTT0 1A HBOM FRVANS (3366 7.5 Vm ™! @S & FEVET D B
DO

Options :
3x 107% Om
2% 107 Om

4% 107% Om

5% 107* Om

Question Number : 108 Question Id : 4509386348 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Drift speed (v) varies with the intensity of electric field (E) as per the relation

B3 3 (), DS TS B (E) & EOB &0¢H 50250650
Options :

rakE
1. &

v E?

vaE?

Question Number : 109 Question Id : 4509386349 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A current carrving coil experiences a torque due to a magnetic field. The value of the torque is
80 % of the maximum possible torque. The angle between the magnetic field and the normal to the

olane of the coil i
DS (DToTaINA), 25 St &OHT 06 51850 &0 67}, H Sdehod. &
670y, ¢S50 (165 675, DN 80 % Nexad 0T @O0 3 |@AS B0
& 800 ©02rD8 k3§80

Options :

30°
1. %



2. %
3
™ (]
an ~ |2
3. %
4
T (3)
an” - 3
4.

Question Number : 110 Question Id : 4509386350 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

An electron 1s moving with a velocity (ZE + 3}) ms”* in an electric field (3f 16+ ZE) Vs ! and

a magnetic field of (2} } BE) T. Then the magnitude and direction (with x-axis) of the Lorentz

force acting on the electron i
28 AOFD (2i43)ms? Jod A T (3i46j+2k) Vst OO
(2j+3k) Tl @0hr08 310 Hom HAODDD)E, BNS & JOFIR
AT ST0F 20 D600 HBOM BF (-09% )

Options:

2
06xX10 YN 6 = cos™! (—)

V5

5
9.6 X 10717 N, 6 = cos™ ! (—)
V2



2
215310728 N, 6 = cos™? (—)

3.¢ \/g

5
2.15x 10718 N, 6 = cos ! (—)
V2

Question Number : 111 Question Id : 4509386351 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
A magnet suspended mn a uniform magnetic field is heated so as to reduce its magnetic moment by

19%. By doing this. the time period of the magnet approximately

2,8 D808 ©0D08 3 $06 [FFGANS 2,8 O 0ER), T ®OHRT 0
780 19% BT DGO I T, BE® TANGO SO, & ©ADIL0S0 TN,
BOTH88 00 DThT

Options:

Increases by 11%

11% DO MHeHod
1.+
Decreases by 19%
19% €3O0
2. %

Increases by 19%

19% 22N EOO



Decreases by 4%

4% 5D

Question Number : 112 Question Id : 4509386352 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the current through an mductor increases from 2 A to 3 A. the magnetic energy stored in the
inductor increases by
2,8 (G50 TP 5T° [HSeTOtTHN), IS 2 A 0 3 A § DA, %S Ao
03 ®0DF06 48 S DAHESE

Options :

125%
1.

50%

Question Number : 113 Question Id : 4509386353 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the figure, if A & B are identical bulbs, which bulb glows brighter
30 IH0S, A OO B G FISTHRN 2e0)00. FES A6 (500
2e0MHen0dy?

e G

I @B

10 pF

Options:

A
1.

Both with equal brightness

BOC® 2,3 DO (DSFT O

Both do not glow

SO Fediie)

Question Number : 114 Question Id : 4509386354 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
The Solar Radiation 1s

S DESTEN 9V
Options :

Stationary wave

i} G Gomen
1.
Mechanical wave
§ QS0 e38 edSomren
2.
Transverse EM wave
3555 DD A0S SBOoTeD
3.4
Longitudinal EM wave
i e NTA DN SO0 dSomen
4,

Question Number : 115 Question Id : 4509386355 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Energy required to remove an electron from aluminmm surface 1s 4.2 eV. If light of wavelength

2000 A falls on the surface, the velocity of the fastest electron ejected from the surface will be
©OTDA0N0 BO0 DHOG 28 JOIFTA b SONITAS TIONS 45 4.2eV.
SS0MTY50 20004 o) 0B &8 S0 ISIDY, @ S0 HOd ISR
O[T (105 o

Options :



8.4 % 10° ms™!
1.«

7.4 % 10° ms !

6.4 x 10° ms™!
3. ®

8.4 X 10°ms™!

Question Number : 116 Question Id : 4509386356 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

[f the bonding energy of the electron in a hydrogen atom 1s 13.6 eV, then energy required to remove

electron from first excited state of Li%* i

TIEB DOSTENHES IO|F TB0E, 206 3§ 13.6 eV 0B Li2F 0 Besed
08 DOG O[T o BORONTAS THOV 48

Options:

122.4 eV
1. %

3.4eV
2. %

13.6 eV



30.6 eV

Question Number : 117 Question Id : 4509386357 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A mixture consists of two radioactive materials 4; and A, with half lives of 20s and 10s

respectively. Initially the mixture has 40 g of A; and 160 g of 4, . The amount of the two in the

mixfure will become equal after
90 A6 5ere 20 5 O 10 s THHIE) A; HOK 4, ©F BARF 7638 Arersen
[F50 SO, & DFH0S Sendh 40g O 4; HOAM 160 g © 4, FOFO $005.

& QD300 S BOh Hrese 35T TP SRS I S0

Options:

60 s

1. %

80 s

20 s

40 s

Question Number : 118 Question Id : 4509386358 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If n, and ny, are concentrations of electrons and holes in a semi-conductor, then the intrinsic carrier

concentration (1) in thermal equilibrium is
2,8 O8TFE06 O[T HOAN GOIGPO TEHSe ST 1, HOAN 1, GOV

& DDTRRES D 52T SDITIRE Tehed (my)

Options:

_ IIE
In; = /nh

1. ®
Iy
L
g
2. %
In; = /Ny
3.«
Iy = Ng + Ny
4. %

Question Number : 119 Question Id : 4509386359 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the given digital circuit if the mputs are A = 1,B = 1 and C = 1 then the values of y; and y, are

respectively
18065 B0 AEHSO SOADMNES VST A= 1,8 =180 € = 1 @00y,
DB y; 2NN AT
A
Y2
B ._D
( +—o ¥
Options :
0,1
1.+
0,0
2. ®
3.5 b1
4.8 bLO

Question Number : 120 Question Id : 4509386360 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the maximum and minimum voltages of an A. M wave are V., and Vi, respectively. Then the

modulation factor ‘m’1s

2,8 800 OB SrIBAS (AM) Sdorfo Tng) 18 HBN R ST

NN ST Ve DGO Vs, ONS STCHET A (HEREM ‘m’



Options :

(Vmax + len}/
Vma:{ I]‘.LIH)
1. #
rC‘“‘rm:u{ ) min}/
(Vmax +Vmi n)
2.
2 Vmax 1il“Jrl'ﬂin _
[Vmax"]'vmin}
3. %
(“na‘-c_]'vmln)/
max Vminj'
4, %
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The de Broglie wavelength of a particle of mass 1 mg moving with a velocity of
10ms ™ is (h=6.63 x 107 T s)
10ms™! 3608 68 1 mg 10225074 fie 8630 C%[_?Sﬁf’f) S30NE030 (h=6.63 x 10731 5)

Options :

6.63 x 107%° m
1.4

6.63 x 107 m

2. %

6.63 X 1073 m
3. #

6.63 x 107%2m
4, %

Question Number : 122 Question Id : 4509386362 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Correct set of four quantum numbers for the valence electron of strontium (Z = 38) 1s

[TPD0DD (Z=38) SOR) O[FTRE 0D 525080 0PI OIS DN

Options:

1
50,8, +E
1.4



5.1.0. +§

2. %
1
5. 1.1, +E

3. %
1
6. 0.0, +E

4. %

Question Number : 123 Question Id : 4509386363 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match the following

ListI List IT
Element | Electron gain enthalpy (in kI mol ™)
A| F I -141
B| Cl |1 —328
B B |6 -200
D| S |IV -349
The correct answer 1s
1800 are3Q 263DTa
T 1 AR
TO80 DO T Tars 0w (kI molL ©)
A F | —-141
B I i 328
C 0 111 -200
D S Y -349
NOINESN VAN (G



A-II. B-IV. C-I. D-IIT

1.4

A-TV, B-II, C-1, D-III
2. %

A-TIL B-IL C-IV, D-I
3. %

A-II. B-IIL. C-IV. D-1
4. %

Question Number : 124 Question Id : 4509386364 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The bond lengths of diatomic molecules of elements X. Y and Z respectively are 143, 110 and 121

pm. The atomic numbers of X. Y and Z respectively are:

X, Y D005 Z rOse 6§00 @me)® 206 BTN SR 143, 110

U

DB0% 121 pm. X, Y o0B05N Z © 233adPE0 05N ST

Options :
9 78
1.+
7. 8.9
2. ®
8T



1:9. 8

Question Number : 125 Question Id : 4509386365 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The correct formula used to determine the formal charge (Qf) on an atom in the given Lewis
structure of a molecule or 101 15
(V = number of valence electrons in free atom, U = number of unshared electrons on the atom,

B = number of bonds around the atom)

2,8 8365 B @053 B Orawr A0, ssrens) 90 % Q1
ARON0LIETAS GAETAOD T e

(V="05) 98 HISTEIS &R) FOX) O[T 0P, U= N6rens) s

€509, AOTNEDN O[T NOPDS, B = aiPedda)) LHET t5ed) DOTTO 0S)

Options :

Q; =V+ (U—B)

Q;=V-(U+B)
3.



Question Number : 126 Question Id : 4509386366 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

RMS velocity of one mole of an ideal gas was measured at different temperatures. A graph of (s’

(on y-axis) and T(K) (on x-axis) gave straight line passing through the origin and its slope 15 249
m’s K. What is the molar mass (in kg mol™) of ideal gas? (R=8.3 J mol K™

2,8 IO &3¢0 a0 RMS SR DG Gl 11656 56 SO, (ums) (-3 02)
008 TK) (-0803) © HC5S (T N dreddodhs) Hom ITy A$0
OO0, T P 249 ms K. 8¢5 aPaine) Irerd ar0 (ke mol! ) 0ES?
(R=8.3 Jmol'KY)

Options :
10
1. %
1.0
2. ®
249
3. %
I %107

4. &



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Given below are two statements

Statement I: Viscosity of liquid decreases with increase in temperature
Statement II: The units of viscosity are kg m™s”

The correct answer 1s

1508 BOC ar§SEN B SF0W

T5ws I 19509 ) (ed, sl |ied DEAITOE 5D eddod.
S g II: ?Q;Ifjé |0eITETEN kg m g2

HOTS SIS0
Options :

Both statement- I and statement- II are correct

5§~ 1 o0BC °§WE- I TOC® D8 QDN

1. %
Both statement- I and statement- II are not correct
S50 §- 1 DO O° 5 S-IT FOCH® DB ) 5%
2. ®
Statement- I 1s correct but statement- I1 1s not correct
55~ T AOADNIE 57 5 §- I QBN 5°CD
3. ¢

Statement- I is not correct but statement- IT 1s correct

°ED - T DB 5°CN 57 a0 §- IT DBADAAE



Question Number : 128 Question Id : 4509386368 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A hydrocarbon confaming C and H has 92.3% C. When 39 g of hydrocarbon was completely burnt

in Oy, x moles of water and y moles of COy were formed. x moles of water is sufficient to liberate
0.75 moles of Hy with Na metal. What 15 the weight (in g) of oxygen consumed?
(C=12wH=1u)

C B0 H 0 &5cd) 2,8 FRESEIR S 923% € 5065, 39 g © ITBTEIN 0 0 S

—

JO™ 080D x IO © A HBAN y PO © COr GBI, x IO ©
6, Na S r0S 163 S08520 075 TS © Hy & DDA TONEE S8 eh0d.

DTS €812 (655078 (¢ ©S) 0 ? (€= 121 H=11)

Options:
120

1.4

240

Question Number : 129 Question Id : 4509386369 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At 300 K. for the reaction A — P. the ASgy is 5 JK! mol ™. What is the heat absorbed

(in k7 mol™?) by the system?

W,

300K 638, A — P tH8580 ASsss 00a) 5 TK ! mol™. 9503 ((1ar0ded &0

@ £l

(k7 mol! ©) Doeh?
Options:
1.5
1. ¢
15
2. %
1500
3. %
0.6
4. %

Question Number : 130 Question Id : 4509386370 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Identify the incorrect statements from the following
L. ASeystem = (AStotal + ASsurr)
I A() — A(s): for this process entropy change decreases
II.  Entropy units are J K mol™
DB 5% (incorrect) 55D B80S0
L. ASsystem = (AStotal + ASsurr)
I A®) — Als): 8 [(DIBOOE DOES DS 23350 ) 5Hes0

M DOETD (Dedrearen JK mol™

Options :



L. IIT only
I, I 535765530

1.4
L. I only
I, IT (5o
2. %
I 1L III
3. %
I1. III only
I1. III o337 €530
4. %

Question Number : 131 Question Id : 4509386371 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

At T (K). K for the reaction, A, (g) = B, (g) 15 99.0. Two moles of A2 (g) was heated to T (K) in
a 1L closed flask to reach the above equilibrium. What are the concentrations (in mol L) of A2 (g)

and B2 (g) respectively at equilibrium?

T K) 38 A, (g) = B, () B85 % K dend 99.0. Boch IS © 4  IL PSS
ST (K) S350 SETD 3 STV S0, DTS 0 Ar SO By
©) Phede) (mol L™ @("55) TP 0eh?

Options :

1.86.0.0187



1.98, 0.02

2. ®

0.0187.1.86
3. %

0.02, 1.98
4.+

Question Number : 132 Question Id : 4509386372 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
At 27°C. the degree of dissociation of weak acid (HA) in its 0.5M aqueous solution is 1%. Its K,

value is approximately

27 56, 0.5M B0 [PHE0ES 2T €300 (HA) BTy Db @30 1%. T K,

Do) ADART

Options :

5 x 1072
2.

4. %



Question Number : 133 Question Id : 4509386373 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Aluminium carbide on reaction with D20 gives Al(OD); and ‘X", What 1s X7

DA 58)& D0 & 1985 SO0 ALOD); HBAM X’ © AL, X O?

Options :

CaDn2
1. %

C3Dy
2. %

CaDy
3. %

CDy
4,

Question Number : 134 Question Id : 4509386374 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Lithrum forms an alloy with “X". This alloy 1s used to make armour plates. What 1s “X"?
DBOHO X' & MFD eI EIHN0B. & DF S3FD) ETOD SAF
TG0 S GHTFATE. X O?

Options:

1.4



Pb
2. %

Al
3. %

Cr
4. &

Question Number : 135 Question Id : 4509386375 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In which of the following reaction. dihydrogen is not evolved?

BOA O BVE5S BXBRS DO 5°¢H?

Options:

Oxidation of sodium borohydride with iodine

OBrAS & FHOHo ST BE 831880

Hydrolysis of boranes

. ST © 230 DIAD0
2.

Heating the adduct formed by reaction of ammonia with diborane

B TS & QAT B85S B HoEOe) I DO



Burning of diborane in oxygen

38138 S BSTS D DHOGOIE0
4.

Question Number : 136 Question Id : 4509386376 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Match the following

1506 TE3R) B35St

List-I (23*2)&-1) List-II (23°2)&-1I)
Bond (2004)0) | Bond enthalpy (2208 @OEF’@ 3)
(in kJ mol ™)
A Si—-S1 | 240
B C-C II 297
C Sn—Sn III 348
D | Ge-Ge IV 260

The correct answer 1s

AT QIO
Options:

A-Il. B-III, C-I. D-IV

A-TII. B-IV., C-III, D-I

A-III. B-II., C-I. D-IV



A-TII, B-I, C-IV, D-II

Question Number : 137 Question Id : 4509386377 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Arrange the following pesticides in the chronological order of their release into the market

Organophosphates organochlorides sodium chlorate

A B C

8080 DGO TH500D F5aPS B0H0S § ST ENS FOESTIOE0M 965150

ST ar ) a7 Dk en FE0 5
A B L
Options :
B.A.C
1.4
B.C A
2. %
B L W
3. %
£ LG



Time:0

From the following identify the groups that exhibit negative resonance (-R) effect when attached
to conjugated system

formyl amino alkoxy cyano mtro

A B C D E
808 TS H0aNM} H5H0% 2000RGSHE HE TEIQ) D) (R)
D800 ddrarerd Mook
010 AR ee1)8) KON 3
A B e D E

Options:

A.C.E only
A, C, E 07 €5

1. %

B. C.D only

B. C. D 57653
2. %

A.D.E only

A.D. E 5530
3.v

B. D. E only

B. D, E 07€553
4. %



A dibromide X (C4HgBry) on dehydrohalogenation gave Y which on reduction with Z gave non

polar isomer of C4Hs. What are X and Z respectively?
28 B X (CiHsBr) Aar|@ FSETAN S Y b 3000, Y 28 § ahideao
DO C4s T, 91¢0a) PCSTSRY 3 10D0E. X DA Z €2 DT 7

Options :
Br
/\‘/ - Na/NH; (7)
Br
1.
Br
/J\‘/ Pd/C
Br
2. %
/\l/\Bl, - N Iqu U)
Br
3. %
/\/\Br ‘ e
Br
4. %

Question Number : 140 Question Id : 4509386380 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The diffraction pattern of crystalline solid gave a peak at 26 = 60°. What is the distance (in cm)
between the layers which gave this peak?

(1 of X-rays is 1.544) (sin 30°=0.5, sin 60°= 0.866; n =1)

2,8 9638 0598y D3 SadrareS 2.8 30 (peak) 20 = 60° 5 DEBOD.

& 3200) A0 0 55 GRG0 (cm ©OF) J0? (X-85676) 1 e 1.544)
(sin 30°=0.5. sin 60°= 0.866; n = 1)

Options :

8.89 x 10?2

8.89 x 1071

1.54 x 1078
3.¢

1.54

Question Number : 141 Question Id : 4509386381 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The concentration of 1L of CaCOj solution is 1000 ppm. What is its concentration in mol L1?
(Ca=40u.0=16u.C=12u)
1L CaCO03 (T969:) TTCHed 1000 ppm. T Tched mol LT 6" 0eh?
(Ca=401.0=16u.C=12u)



Options :

1073
1. %

1
2. ®

107
3.

107
4. &

Question Number : 142 Question Id : 4509386382 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

At 293 K. methane gas was passed into 1 L of water. The partial pressure of methane is 1 bar. The
number of moles of methane dissolved i 1 L water 1s

(K of methane = 0.4 kbar)

293 K 36, 1 L DS D8 DB P 0ineyed 00T, MBS 2§ & 2chedew 1 bar
1L S §600 DB IrS © HoDs J0oeh?

(B Ka=0.4 kbar)

Options :

1.38
1. %

1.38 x 1072
2. %



1.38 x 1073
W

1.38 x 1071

Question Number : 143 Question Id : 4509386383 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The E€ of MM Cu™|Cu is 0.3 V. At what concentration of Cu’*(in mol L. the Ecey value

2.303RT

becomes zero? ( = 0.06) (Conc.of M*t = 0.1 M)

MM2|Cu]Cu G30%) EO Densd 0.3 V. & Cu Treseb (mol LT ©65) 96 Beey DENS )
90 00?
(2.303 RT

= 0.06) (M2 teched = 0.1 M)
Options :

10~
1.%

108
10—11

10—1ﬂ



Question Number : 144 Question Id : 4509386384 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
At 298 K. for a fust order reaction (A—P) the following graph 1s obtained. The rate constant
(ins) and initial concentration (in mol L) of A’ are respectively
(y-axis = In(a-x); x-axis = time 1n sec)
208 K o500, 28 (8 (8708 38550 (A—P) (808 (Mo ©D0D0A. Tty VT°0%0
51 OS) HOO A’ SOMChE (mol LT ©65) SET D0h?
& 5,
(-3 0 = In(a-x): x-85 0 = 500 REDHOD)
}?
|

22,303 | »
Slope=—(107)

-

Options :

2.303: 1071
1. ®

1072; 2.303
2. ®

17 1072
3. %

1072. 1071

4.



Question Number : 145 Question Id : 4509386385 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Given below are two statements

Statement-I: Easily liquefiable gases are readily adsorbed

Statement-IT: Adsorption enthalpy for physisorption 1s less compared to adsorption enthalpy for

Chemisorption

The correct answer is

150¢5 BOC ar 55N Bad SOFON

52051 OO (TN 5 TOIYEN DOLOT T AEI0 TOBON

Tig T T8¢ @bFATdd @dTan Jo), JTads ©oMnos

9OTA0 0T $0B) &)

OGN Baran

Options :

Both Statement-I and statement-II are correct

o $2D 5-1 e0O0NN 5 $-II TOCH® DO
1.¢

Both Statement-I and statement-II are not correct

° $ED E-1 DB o §$-IT BOCAT DB QD) 576

2. ®
Statement-I 1s correct but statement-II 1s not correct
D 5-I QB 5°Q P FWS-IT DEADIE 5°CH
3. ®



Statement-I 1s not correct but statement-II 1s correct

3§D S5-I DB 5°CN 7R ol FWS-IT DO

Question Number : 146 Question Id : 4509386386 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The validity of Freundlich isotherm can be verified by plotting

EFONORR NRTATD SP5eded 3 s0¢d3 R Teraed0 o 5o AGONTH
Options :

X : g
log — on y-axis and log p on x-axis
m

y-e95 0 log% DB x- @5 0D logp

1.
X . H
E 011 y-axis and P 011 X-axis
y-©503) — HOOW x- @50 p
2. %

X : ;
lo g on X-axis and p on y-axis

x-e98 03 lngi DB y- @50 p
3. %

X . o
— on x-axis and log p on y-axis
m

x-098 0 = DB y- @50 logp

X
m



Question Number : 147 Question Id : 4509386387 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which one of the following sets is not correctly matched?

1BOE DS DB 23HMCHIE DE?
Options:

Cuprite. haematite — oxide ores

S05 0, TNTE) — e33)B wA2TEW

1. %

Calamine. siderite — carbonate ores

SO, WGDE) — THRE DITEN
2. %

Magnetite. malachite — silicate ores

S B, B — DO TE DATEN
3.¢

Sphalerite. fool’s gold — sulphide ores

DIOBE, TS ) FO - 3B )& AN
4, %

Question Number : 148 Question Id : 4509386388 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



When chlorine reacts with hot and conc. NaOH. the products formed are

36 SOOI M¢h NaOH & S8 1985 S0 8¢ (SoSramrsen
Options :

NaCl. NaClOs. H20

1.

NaCl. NaOCIL. HO
2. ®

NaCl. H2O only

NaCl. H20 57| ¢h )
3. %

NaOCl. H.O
4. %

Question Number : 149 Question Id : 4509386389 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Identify the basic oxide from the following

1508 a°¢3 o0& 578 €335 )& o H8othdw

Options :
Cr203
1. %
CrOs



Question Number : 150 Question Id : 4509386390 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Which of the following does not show optical isomerism?

B0 ¢3S DO 59096 FTCIYFERY, TIPDICD?
Options :

Cis= [Cr CL{C:0.): 1
O — [Cr Cl,(C,04),]3

1. #
[Pt Cl,(en),]**
2. ®
[Co (NHa:h{:NOz:}a]
3. %
[Co(en);]3t
4, %

Question Number : 151 Question Id : 4509386391 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

A polymer X 1s biodegradable and 1s obtamned from the monomers Y. Z. What are Y and Z?

2,8 OB X a8 00r8)5a0s) 08 SHAAM Y, Z FrSand © shod dNod. Y
OO Z €0 9)?

Options :

COOH B A s B
H,! /\/ " HN

CH,

)\ g g Coos
H,N COOH ¢ H,N

2. %

/\l/\C‘DDH /\l/\CODH

OH OH
3. % '
OH
/\/CDOH
‘ /\I/\COOH
OH
4.

Question Number : 152 Question Id : 4509386392 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following is an essential amino acid?

8§08 T3S DO 2.8 ©355%55 DS’ 3007

Options:

COOH
H,N——H
CHj

COQOH
HaN——H
CH(CHs)»
3. %

COOH
HoN—{—H
CH,SH

Question Number : 153 Question Id : 4509386393 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Which of the following hormone 1s responsible for preparing uterus for implantation of fertilised
egg’

800 2 S0 JoOLBRS womdy (8)S &oddod AE)N0NS

S5 ICHKOE?



Options :

Estradiol

DSBS

Pl'OgEStEI‘GHE

S BNES

2.

Testosterone

BEFROS

Thyroxin

DTS )

Question Number : 154 Question Id : 4509386394 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify the correct set from the following

§0& €3 0 JBRS dadedd hlodod
Options :

Penicillin — narrow spectrum - bactereostatic

DAVOS — 96§05 E DY — A8 228590 ABOOTE

2.



Chloramphenicol — broad spectrum - bactereostatic

S0 DRSO — 9O 808 DY — A8 228900 ABHOTE

Ampicillin - — narrow spectrum - bactericidal

DOVVOS — 98057658 D& — 78 328HeD BO D

3. %

Ofloxacin — broad spectrum - bactereostatic

2,657 )0 — @HFBO5TE8 8 Dged — ArE 225090eD ABHOTE
4, %

Question Number : 155 Question Id : 4509386395 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Chlorobenzene (X) when reacted with reagent ‘A’ gets converted to phenol (Y). The major product
obtained from mitration of X gets converted to p-nitrophenol (Z) by reaction with reagent B. What

are A and B respectively?

SEB0B (X) D 650 A & B85 2625 @0 DTS (V) T SrE12800. X
08 DDA VELS D) (5T &I S0 B & 158580809596
RIS DT (2) T S8 )0 B0E. A OO B € SET D2

Options:

A=(i)NaOH. 623 K. 300 am (i) H: B =(i) NaOH. 443K (ii) H"
1.4

A= (i) NaOH. 443 K (ii) H": B =H0. A



A= (i) NaOH. 323 K (ii) H": B=(i) NaOH. 443 K (ii) H

A = (i) NaOH. 623 K. 300 atm (ii) H: B=H0. A

Question Number : 156 Question Id : 4509386396 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Match the following reactions with the product obtained from them

List-I List-IT

A | Sandmevyer reaction I |R-I

B | Finkelstein reaction I |R-F

C | Swarts reaction Il | Ar-Br
IV |R-Br
1808 98500 T30 ©25300D8 teed Jom) O 2TADOR
ORI Q-

A [ roH Dabd G | T R

B | Q5O P Vs I |RF
C | 58D )38 I | Ar-Br

IV |R-Br

Options :

A-III, B-I. C-IV



A-IV, B-lI, C-I

%

A-III. B-IV., C-II
3. %

A-IIT. B-I. C-I
4. &

Question Number : 157 Question Id : 4509386397 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What are X and Y respectively in the following reaction sequence?

1808 078 (5006 X SHBAIN Y €0 G dD?

CHO CN

L

= Oxime
esg:]fu

Options :

NHoNH2.  CgHsSO2C1/ Pyridine
NH-NHa., CsHsSO:C1/ DOAES

NH:NH;. (CH3CO)20



NH20H, CgHsSO2C1/ Pyridine
NH20H. CsHsSO:Cl/ D8RS

NH;OH. (CH3;CO)0
4.

Question Number : 158 Question Id : 4509386398 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Arrange the followng in decreasing order of their acidity

1808 3R 3¢S e3:06 50 7] 150065 @Yo

COOH COOH COOH
A B. C
CN F NO,
Options :
C=>=B=A
1. %
C=A>8B

2.



Question Number : 159 Question Id : 4509386399 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What are X and Y i the following set of reactions?

806 B850 ANBS' X HBOI Y € N7

OHC COOC,He
OH
Y X
A — L
Options:
X =(1) DIBAL-H (1) H20 Y =(1) DIBAL-H (1) H20
1. %
X = Hy/Catalyst Y = Hy/ Catalyst

X = Hy/Ss(@ 33850 Y = Hy &(@)85%0

X = Hy/ Catalyst Y = (i) DIBAL - H (ii) H20
X = Hy&(3)5%0  Y=(i) DIBAL-H (ii) HO



X = (i) DIBAL - H (ii) H,O Y = Hy/ Catalyst

X = (i) DIBAL - H (ii) H20 Y = Ho/&5( 8B )380
4, %

Question Number : 160 Question Id : 4509386400 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
An alkyl halide C3H7CL. on reaction with a reagent X gave the major product Y (C4HzN). Y on

hydrolysis released gas, which turns red litmus to blue. What are X and Y?

28 88,0 FBh CGHICL FE%0 X & 9635 Y (CHN) & (DTS €S0
30)00. Y 20368 DHEBS Tos) JF D b A Sothrr 7808, X
B0 Y €0 2?7

Options :

KCN/C2H50H.

/\/CN
KCN/C2H50H.

2.

/\/ N
AgCN/C2H50H.

3. %

/\/ NC
AgCN/C2HsOH.,






